making great days in the outdoors

LAWN PRO™ LAWN MOWER

HI-HI'TCH
MODEL: LNPHH650

A WARNING

READ ALL INSTRUCTIONS BEFORE USING THE LAWN PRO LAWN MOWER HI-HITCH
NOTE: DO NOT EXCEED TRAILER CAPACITY OF LAWN MOWER. FAILURE TO READ
INSTRUCTIONS COULD RESULT IN INJURY OR DEATH.

Instructions for Installation and Use:

CONTENTS-SEE FIGURE 1

1- HI-HITCH BODY

4- BRACE ARMS

1- 5/8” LOCKNUT

2- 5/8” FLAT WASHERS

1- 5/8” X 2 1/2" BOLT

1- 1/4” X 2 1/2” BOLT

2-1/4 X 1" BOLTS

6- FLAT WASHERS

3- 1/4” LOCK NUTS

**NOTE** 2- FLAT WASHERS & 1-

1/4" X 2 1/2” BOLT ARE SHOWN IN
. FIGURE 1 ATTACHING 2 OF THE
©ooo0 BRACES TO THE HI-HITCH BODY.
*+2- 5/8” FLAT WASHERS ARE NOT
FIG. 1 PICTURED. **




STEP 1-

ATTACH BRACE ARMS TO HI-HITCH BODY USING 1/4" X 2 1/2" BOLT, FLAT WASHERS
AND LOCK NUT. TIGHTEN UNTIL SLIGHTLY SNUG. BRACE ARMS SHOULD BE ABLE TO
PIVOT.

STEP 2-

CONNECT HI-HITCH BODY TO LAWN MOWER TRAILER MOUNTING HOLE WITH 5/8” X 2
1/2” BOLT, FLAT WASHERS AND LOCK NUT. TIGHTEN ONLY UNTIL SNUG. HI-HITCH
SHOULD BE ABLE TO PIVOT SIDE TO SIDE.

STEP 3-

POSITION BRACE ARMS AGAINST BACK OF LAWN MOWER AND MARK FOR DRILLING.
SWING BRACE ARMS OUT OF THE WAY. DRILL MARKED HOLES WITH A 5/16” DRILL
BIT.

**NOTE** MAKE SURE THERE ARE NO OBSTRUCTIONS BEHIND BACK PLATE OF LAWN
MOWER BEFORE DRILLING.

STEP 4-SEE FIGURE 5
ALIGN HOLES IN BRACE ARMS WITH DRILLED HOLES IN LAWN MOWER AND FASTEN
WITH THE "> X 1” BOLTS, FLAT WASHERS AND LOCK NUTS. TIGHTEN SECURELY.

STEP 5-SEE FIGURE 6
TIGHTEN REMAINING HARDWARE SECURELY.

NEVER EXCEED THE TRAILER CAPACITY OF THE LAWN MOWER.
For more information about this or other products, contact us at:

Great Day, Inc.

604 Kimbrough Dr. * Tallulah, LA 71282 * (866) 649-1918 * www.greatdayinc.com



http://www.greatdayinc.com/

